URE=ELER

128 18 2R 3A
1 EEA + & EEA x| EENHE 1
2 EENA A K& EENE * EENR 2
3 EEA A & EEA * K& 3
4 AXKE |« *hE EEA & & 4
5 RE x| EENA EEA x| EEHE 5
6 EEA x| EENH rE B & 6
7 EBA e EENA EEA Al  EEA 7
8 EEA = EENH EEA x| EENH 8
9 EENR A rE EENR * EENR 9
10 & A *hE EBH * & 10
11 K& * EEIR K& ® EENA 11
12 rE x| EENHE rE = EENH 12
13 EBA x| EENA EBA 8l AXXE |13
14 EEA e EENH rE Al EEIA 14
15 EBA = EEIA *rE x| EENHE 15
16 rE B *hE rE x| EENH 16
17 EEA A SEENA *rE * "E 17
18 EEA x| EENH rE e EENH 18
19 rE x| EENH *rE = EEAE 19
20 EEA * hE & B & 20
21 EBA & EENA rE A & 21
22 EENE x| EENIE rRE x| EENIHE 22
23 rE B & rE x| EENH 23
24 EEA Al EEIA & ® & 24
25 & x| EENA rE & EEHE 25
26 RE x| EENH SEEA x| EEHE 26
27 EBA * *rE & B & 27
28 EEA e EENH SEBA Al  EEA 28
29 & = EENA EBA 29
30 & B & EEA 30
31 & Al EEIA & 31

AN 18 20 20

ARk 1 0 0 1

AE R 0 0 0 0

%R 12 11 16 10

thma/A 3.0 28 40 25
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1054

1154
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